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Guess Paper – 2012
Class – IX
Subject – MATHEMATICS
Time: 3 to 31/2 hours






Maximum Marks: 80
General Instruction:

1. All questions are compulsory. 

2. The question paper consists of 34 questions divided into four sections A, B, C and D. Section- A comprises of10 questions of 1mark each, Section- B comprises of 8 questions of 2 marks each, Section -C comprises of 10 questions of 3 marks each and Section- D comprises of 6 questions of 4 marks each.

3. Question numbers 1 to 10 in Section- A are multiple choice questions where you are to select one correct option out of the given hour.

4. There is no overall choice. However, internal choice has been provided in 1 question of two marks, 4 questions of three marks each and 2 questions of four marks each. You have to attempt only one of the alternatives in all such question.

5. Use of calculator is not permitted.

6. An additional 15 minutes time has been allotted to read this question paper only
	


SECTION –A

 Question number 1 to 10 carry 1 mark each.
1. The point lying on the equation 2x-y=5 is

(a) (2, -1) 

(b) (6, 1)

(c) (-3, 1) 
(d) (3, 4)

2. If the points (2,1) lies on the graph of the equation3x+ky=4, then the value of k is
(a) 1 

(b) -1 


(c) 2 

(d)-2
3. If in a quadrilateral ABCD, [image: image2.png]


 A=900 and AB=BC=CD=DA, then ABCD is a

(a) A parallelogram

(c) rectangle

(b) Square


(d) rhombus
4. In quadrilateral PQRS, if  [image: image4.png]


P=600 and  [image: image6.png]£Q: £R : 25



=2:3:7, then  [image: image8.png]



(a)  1750 

(b)1350


(c) 1500

(d)2100
5. If area of parallelogram ABCD is 25cm2 and on the same base CD, a triangle BCD is given such that area BCD=xcm2, then value of x is

(a) 25cm2 
(b) 12.5cm2

(c)15cm2 
(d)20cm2
6. If AB=12cm, BC=16cm and AB[image: image10.png]


BC, then radius of the circle passing through A, B and C is
(a) 6cm
(b) 8cm


(c) 10cm
(d) 12cm

7. In the figure, if O is the centre and [image: image12.png]


BOA=1200 , then the value of x is
[image: image29.png]
(a) 1200

(b) 600

(c) 300

(d) 900 

8. The length of the longest rod that can be put in a hall of dimension 23mX10MX10m is

(a) 20m 
(b) 15m

(c) 23m

(d)27m
9. Median of the data 5, 9, 8, 6, 3, 5, 7, 12, 15 is 

(a) 3

(b) 6

(c)5

(d)7

10. A triangle and a rhombus are on the same base and between the same parallels. Then the ratio of area of triangle to that of rhombus is

(a) 1:1

(b)1:2

(c) 1:3

(d)1:4

SECTION- B

Question number 11to 18 carry 2 marks each.
11. Find the four solutions of 2x-y = 4.

12. Show that if the diagonals of a quadrilateral bisect each other at the right angles, then it is a rhombus.

13. ABC is a triangle right angle at C. A line through the midpoint M of hypotenuse AB and parallel to BC intersects AC at D. Show that

(i) D is the mid pint of AC

(ii) MD[image: image14.png]


AC.
14. Prove that a cyclic parallelogram is a rectangle.

15. In the given figure, O is the centre of the circle. The angle subtended by arc ABC at the centre is 1400.  AB is produced to P. Determine [image: image16.png]


ADC and [image: image18.png]


CBP


16. Three spheres of radii 3cm, 4cm and 5cm are melted together to form a single sphere. Find the radius of new sphere.
OR


How many litres of milk can a hemispherical bowl of radius 10.5cm hold?

17. The curved surface area of a cylinder is 176cm2 and its area of the base is 38.5cm2. Find the volume of the cylinder. (Take π=22/7)

18. Find the mean of first 10 prime numbers.

SECTION-C
Question number 19 to 28 carry 3 marks each.
19. Draw the graph of the equation x +y -10 =0 and x –y +4 =0 on the same graph paper.
20. Solve x:



[image: image20.png]


=6 [image: image22.png]








OR

Sum of the digits of a two digits number is 12. If 18 is added to the original number the digits interchange their places. Write two linear equations representing these situations.

21. Show that bisectors of angles of a parallelogram from a rectangle.

22. Construct a triangle ABC in which [image: image24.png]


B=600, [image: image26.png]


C=450 and the perimeter of the triangle is 11 cm.

23. The height and base diameter of a conical tent is 16m and 24m respectively. Find the cost of canvas required to make it at the rate of Rs. 210 per m2 ?

OR


The inner diameter of a circular well is 3.5m. It is 10 m deep. Find

(i) Its inner curved surface area

(ii) The cost of plastering this curved surface at the rate of RS. 40 per m2.

24. The paint in a certain container is sufficient to paint an area equal to 9.375m2. How many bricks of dimension 22.5cmX10cmX7.5cm can be painted out of this container?


25. If median of 29, 332, 48, 50, x, x+2, 72, 78, 84, 95 (arranged in ascending order) is 63, find x.
	Weight (in kg)
	Number of Persons

	50-55
	12

	55-60
	10

	60-65
	9

	65-70
	7

	70-75
	5

	75-80
	7


26. The following is the distribution of weight (in kg) of  50 persons:

Draw a histogram for the above data.






OR


The heights of 50 students, measured to the nearest centimeters, have been found to be as follows:

135,  162, 173, 151, 176, 165, 162,  145, 171, 172, 157, 161, 172, 158, 163, 175, 148, 173, 163, 159, 160, 162, 172, 175, 176, 168, 167, 170, 172, 173, 165, 151, 149, 169, 173, 138, 156, 148, 159, 166, 176, 151, 139, 146, 164, 173, 141, 142, 150, 159

Represent the data given above by a grouped frequency distribution table, taking class intervals as 160-165, 165-170 etc.

27. The weekly pocket expenses of students are given in the following table:
	Pocket Expenses

    (in Rs)
	Number of students

	145
	7

	140
	4

	159
	10

	171
	6

	158
	3

	147
	8

	165
	12



Find the probability that the week pocket money of a student is:


(a)Rs159
(b) more than Rs 159
(c) less than Rs 159
28. Diagonal AC and BD of a quadrilateral ABCD intersect at O in such a way that Draw a histogram for the above data area (AOD) = areaℵ (BOC). Prove that ABCD is trapezium.





SECTION-D
Question number 29 to 34 carry 4 marks each.
29. 4 years before, age of a mother was 3 times the age of the age of her daughter. Write a linear equation to represent this situation and draw its graph.

30. Prove that two triangles on the same base and between the same parallel lines are equal in area.

31. ABCDE is a pentagon. A line through B parallel to AC meets DC produced at F. Show that

(i) Area ACB=Area ACF

(ii) Area AEDF=area ACDE

OR


ρ is a point in the interior of a parallelogram ABCD. Show that

(i) Area APB +Area PCD=[image: image28.png]


  area  ABCD
(ii) Area APB +area PBC= area APC=area APB +area PCD
32. Prove that quadrilateral formed (if possible) by the internal angle bisectors of any quadrilateral is cyclic.
33. How many cylindrical glasses of 3cm base radius and height 8cm can be refilled from a cylindrical vessel of base radius 15 cm which is filled upto a height of 32 cm?
	Class Interval
	Frequency

	0-5
	2

	5-10
	3

	10-15
	4

	15-20
	1

	20-25
	5

	25-30
	3


Make a frequency polygon for above given frequency table.






OR

Draw a histogram for the following data

	Class Interval 
	Frequency

	10-14
	300

	15-19
	980

	20-24
	800

	25-29
	600

	30-34
	         300

	35-39
	430

	40-44
	530
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